
15.11.2022, 17:54 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23411?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23411?nodeId=2697 1/1

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Final reduction

1
2

5
6
7

8
3

4

Pos. Code Replacement code Description Notes Quantity State
1 125229 Bolt M10x50 6 saleable
2 644650 Thrust washer 6 saleable
3 125280 Plug M30x2 2 saleable
4 20490 Bolt M8x20 4 saleable
5 644723 Gear Z=31 6 saleable
6 28297 Bearing needles (by tens) 17 saleable
7 128731 Thrust washer 6 saleable
8 66055 Planetary carrier assy 2 saleable



15.11.2022, 17:54 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23410?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23410?nodeId=2697 1/1

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Wheel hub

1 2

3
4

9

10
5

4

6

7
8

Pos. Code Replacement code Description Notes Quantity State
1 68051 Wheel hub kit 2 saleable
2 116957 Stud 20 saleable
3 47702 Cassette seal 150-180-14,5/16 2 saleable
4 118370 Bearing 4 saleable
5 28579 O.ring 2 saleable
6 125233 Lockring 2 saleable
7 125190 Centering bush D20 16 saleable
8 119906 Bolt M14x65 16 saleable
9 139633 Wheel carrier 2 saleable
10 125186 Crown gear Z=77 2 saleable



15.11.2022, 17:54 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23409?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23409?nodeId=2697 1/1

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Brakes

2

1

2
3

1 15

2 4

1

5
166

7
8

17

11
13
14

9
10
11
12

Pos. Code Replacement code Description Notes Quantity State
1 136155 Drive plate 6 saleable
2 143874 Brake disc 6 saleable
3 136644 Drive plate 2 saleable
4 136648 Coupling 2 saleable
5 24782 Lock ring 6 saleable
6 141936 O.ring 6 saleable
7 145815 Pin 6 saleable
8 141935 O.ring 6 saleable
9 66573 Self-Adjust Kit 2 saleable
10 141939 O.Ring 2 saleable
11 141937 O.ring 4 saleable
12 135966 Brake piston (Pos.) 2 saleable
13 135965 Brake piston (Neg.) 2 saleable
14 141938 O.ring 2 saleable
15 135572 Ring 2 saleable
16 135998 Sleeve 2 saleable
17 135964 Belleville washer 4 saleable



15.11.2022, 17:54 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23408?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23408?nodeId=2697 1/1

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Double U-joint

4
3

4

5

6 27
8

= 1

Pos. Code Replacement code Description Notes Quantity State
1 641925 Double joint 2 saleable
2 44162 Fork (diff. side) 2 saleable
3 46220 Central body 2 saleable
4 46221 Spider 4 saleable
5 44146 Fork (wheel side) 2 saleable
6 145553 Washer 2 saleable
7 146945 Washer 2 saleable
8 147349 Snap ring 2 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23407?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23407?nodeId=2697 1/1

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Differential

Pos. Ref. Q.ty Descrizione Description Kit Note

10
9

8
711

12
6
5
4

4 25 16 3

9
10

7
8

Pos. Code Replacement code Description Notes Quantity State
1 66185 Differential kit 1 saleable
2 116369 Pin 2 saleable
3 115730 Thrust washer 4 saleable
4 110642 Diff. plate 2 saleable
5 110643 Diff. drive-plate 10 saleable
6 110644 Diff. plate 8 saleable
7 27256 Bearing 2 saleable
8 125792 Ring nut 2 saleable
9 136156 Locking plate 2 saleable
10 128440 Bolt M6x40 2 saleable
11 125552 Bolt M10x75 12 saleable
12 147106 Differential housing 1 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23406?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23406?nodeId=2697 1/2

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Bevel gear set

8
9

10
11 2

3
4 1
512 4

6
7

7
Pos. Code Replacement code Description Notes Quantity State
1 66752 Bevel Gear 12/32 1 saleable
2 113717 Washer 1 saleable
3 115054 Ring nut 1 saleable
4 125829 Washer 2 saleable
5 125806 Collapsible spacer 1 saleable
6 132265 Shim 2,50mm 0 saleable
6 132266 Shim 2,60mm 0 saleable
6 132267 Shim 2,70mm 0 saleable
6 132268 Shim 2,80mm 0 saleable
6 132269 Shim 2,90mm 0 saleable
6 132270 Shim 3,00mm 0 saleable
6 132271 Shim 3,10mm 0 saleable
6 132272 Shim 3,20mm 0 saleable
6 132273 Shim 3,30mm 0 saleable
6 132274 Shim 3,40mm 0 saleable
7 27350 Bearing 2 saleable
8 123402 Washer 1 saleable
9 28532 O.ring 1 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23406?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23406?nodeId=2697 2/2

Pos. Code Replacement code Description Notes Quantity State
10 145050 Oil seal ring 1 saleable
11 143032 Flange 1 saleable
12 24789 Snap ring D.34 1 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23405?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23405?nodeId=2697 1/2

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Swivel housings and steering cylinder

4 913 102
8

12
116

7
25 13

4
20
21
22

16

14
17

1813
19

157

20 19

Pos. Code Replacement code Description Notes Quantity State
1 146134 Steering arm assy 2 saleable
2 351504 Ball joint 2 saleable
3 70787 Nut M24x1.5 2 saleable
4 352360 Tie rod 1 saleable
5 374156 Steering cylinder 1 saleable
6 146962 Swivel housing LH 1 saleable
7 22446 Nut M24x1.5 2 saleable
8 128534 Bolt M12x45 3 saleable
9 28352 Clamp 2 saleable
10 641449 Sensor 1 saleable
11 370815 Seal ring 2 saleable
12 125161 Bush 2 saleable
13 49316 Cylinder head 1 saleable
14 48492 Rod 1 saleable
15 130632 King pin 2 saleable
16 146961 Swivel housing RH 1 saleable
17 48491 Seal kit 1 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23405?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23405?nodeId=2697 2/2

Pos. Code Replacement code Description Notes Quantity State
18 124748 Bolt M16x100 4 saleable
19 22129 Nut M16 4 saleable
20 24210 Greaser nipple M6x1 4 saleable
21 126923 Bolt M16x38 16 saleable
22 130631 King pin 2 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23404?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23404?nodeId=2697 1/1

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Supports

11
10

29
13
12
3

8
7

2
1

6
5
4
3

Pos. Code Replacement code Description Notes Quantity State
1 380396 Rear support 1 saleable
2 116529 Bush 30x21x16.5 4 saleable
3 24258 Greaser nipple M8x1 2 saleable
4 116530 Bolt 1 saleable
5 28498 O.ring 1 saleable
6 123475 Bush 1 saleable
7 124592 Bush 1 saleable
8 124591 Thrust washer 1 saleable
9 150031 Thrust washer 1 saleable
10 131762 Bush 1 saleable
11 132512 Bush 1 saleable
12 141446 Screw 1 saleable
13 134714 Front support 1 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23403?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23403?nodeId=2697 1/2

Catalogue 394933_26.28MFR_(ECO19820)
Drawing Axle housing

4
51 62 7
83
9

1110
411
53
6
7
83
9

12 1525 1113
1814
1

13
26

12 1925 20
21

16 22
3

17

23
24

Pos. Code Replacement code Description Notes Quantity State
1 142765 TROMBA TRAVE SI (12595) 2 saleable
2 137474 Breather 1 saleable
3 28562 O.ring 4 saleable
4 116792 Breather M10x1 4 saleable
5 21567 Plug M16x1,5 6 saleable
6 139922 Screw M22x1,5 6 saleable
7 28534 O.ring 6 saleable
8 136152 Bolt M16x1,5 6 saleable
9 139955 Pin 6 saleable
10 139816 Brake cylinder LH 1 saleable
11 125280 Plug M30x2 3 saleable
12 21591 Plug 4 saleable
13 28111 O.ring 2 saleable
14 148378 Centra bodyl 1 saleable
15 139815 Brake cylinder RH 1 saleable
16 21334 Bolt 2 saleable
17 21364 Bolt 24 saleable



15.11.2022, 17:53 https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23403?nodeId=2697

https://spareparts.carraro.com/carraro/spareparts/drawingPreview/23403?nodeId=2697 2/2

Pos. Code Replacement code Description Notes Quantity State
18 21558 Plug M10x1 1 saleable
19 128632 Belleville washer 2 saleable
20 144558 Bush 2 saleable
21 118547 Bush 2 saleable
22 139101 Oil seal ring 2 saleable
23 27693 Spherical bearing 2 saleable
24 128631 Belleville washer 2 saleable
25 23260 Washer 2 saleable
26 130667 Plug 2 saleable


